1) A

2) A

3) c&D

4) C

5) h(es, | Hully agree with this statement because the money that was lost on these space
programs could have been spent on something more useful.

6) |think that the NASA engineers would agree with article and understand that there are
more important things going on in the world.

Commented [1]: Good work on items: 1, 2, and 4, but

where is your textual evidence to support your
answers?

Commented [2]: Select only one here. Search the text

| for evidence to determine the best choice.

Commented [3]: For items 5 & 6, ground your

responses in the text i.e. use textual evidence. You
can say: For example, the text states...




